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ANowER KEY

Mathematics 108, Review questions for Chapter 4
Section 4.1 (you don’t need a calculator to do any of these.)

1. Evaluate the given eygpressmns Your answer should be a number.
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Use the properties of exponents to simplify the given expressions.
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Using the properties of exponential functlons ﬁnd all real numbers x that satisfy the
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Word Problems uw\l‘ euu)
1. Ttis determined that g units of a commodity can be sold when the price is p hundred
dollars per unit, where ¢ is a function of p, and q( p) 2000( p)e <

a) Find the Revenue function: R(p) = p- qg(p) - p (VP9 p € " \zooor €
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2. Itis determined that g units of a commodity can be sold when the price is p dollars ‘ &
per unit, where g is a function of p, and g(p) = 5000 pe?. The revenue obtained |

from the sale of g units at price p is R(p) = p-q(p). =
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b) Find the marginal revenue function: R'(p)= %ooP e P 20ep*. M s
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d) What is the maximum revenue? (would require a calculator to compute) ‘
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b) Find all critical values of the function R(p). L e
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their $10,000 in an account at Bob’s

monthly, or in an account at Bank of the Universe, which pays 2.9% per year,
compounded continuously. Compute the amount they would have at the end of 5

years with both investment choices.
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3. Suppose Fred and Judy have $10,000 to invest for a period of 5 years. They can put

Bank which pays 3% per year, compounded

Which is the better investment?
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d now at 5% to obtain $10,000 in 6 years, if the

4. How much money should be investe /
interest is compounded each of the following 2 ways: .
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